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Question Number : 1 Question Id : 2839364161 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Floridean starch is the stored food in

FOSADS B (DO HTPw) D Dot e35%8 Hrom 00 ed) O
Options:

Gracilaria

o
28393616641, ¥ mRSOAH

Spirogyra

28393616642, & RB0C°

Sargassum
28393616643, ¥ VTN

Chara
28393616644, ¥ IS'O°

Question Number : 2 Question Id : 2839364162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Selaginella belongs to the following class
VETrBTr Bod 48Me38 ToOSID

Options :



Pteropsida

=
28393616645, % 307D

Sphenopsida

&
28303616646, % OO DI

Psilopsida’

- =]
28393616647, % RTDIC

Lycopsida

28393616648, ¢ D5

Question Number : 3 Question Id : 2839364163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect pair.

A) Photosynthesis - Amon

B) Study of Bryophytes — Stephen Hales

C) Study of cell structure and function — Camararius

D) Study of plant anatomical tissues — Nehemaiah Grew
Q05 236500 o)ad)) Faain

A) 88230950003 8A%D - &0MM

B) 233528 @ a0 - YR D)

C) $290 T80 OG5 D0 e¢5:0000 — EVB0HN

D) 3% © 4270 @0SBAT e @0daHS0 - Daravah (K

Options :



28393616649, ¥ A, B
28393616650, ¥ A, C
28393616651, ¢ B, C

28393616652, % C: D

Question Number : 4 Question Id : 2839364164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements

A) Cell wall with two thin overlapping shells - Desmid
B) Flagella produce spinning movement - Noctiluca
C) Anterior part of the cell bears invagination - Euglena
D) Saprophytic Protista - Mucor

QAB 588 MHO0eID
A) 520 55350 BOD €963 st DeNIR) 0 250e3 AT0 - Beayd
B) S3rzren 230,00 HOarercd Krs)ed - arger s

C
D

600 3585 27050 €5 065850850 EOR &0 — ahriae
SJredsat | Sre3ar — 055D
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Options :

28393616653, * B, C& D

28393616654. ¢ A, B & C

28393616655, ¥ A, C&D



28393616656, ¥ A, B& D

Question Number : 5 Question Id : 2839364165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Example for twisted aestivation.

O 8RS ) EOSEL e de

Options :
Ca%tmpis
28393616657, # & m(ﬁj
Cotton

28393616658, ¢ 22

Pea
28393616659, % DO°ES

Bean

AN ERV

28393616660. *

Question Number : 6 Question Id : 2839364166 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The minimum number of meiotic and mitotic divisions needed for the formation of

150 male gametes respectively in an angiosperm

8596 Derexd 150 H%A Deren JEIGErAE @SHERS DD §oHEsen HB%N
Ne)B B NODS

Options :

28393616661, % 18, 180

28393616662, ¥ 19, 150

28393616663, ¥ 20, 200

28393616664, * 17,200

Question Number : 7 Question Id : 2839364167 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following:
List I List IT List ITI

A) Perisperm 1) Zygote 1) Coconut
B) Embryo 1) PEN 11) Pepper
C) Scutellum [1T) Nucellus 111) Tridax
D) Endosperm [V) Cotyledon iv) Maize
180B 37¢3R) 23¢d HBTW :

e | e 11 ede 111
A) 20180 I) Hocsng Do 1) 2030
B) a0¢0 II) PEN 1) sBairen
C) A0y B I11) @omroed Seaesrersdn iil) | @5
D) 205085 )¢50 IV) Hesderen iv) B )
Options:

28393616665, * A-I-i, B-I11-1, C-1l-1v, D-IV-iii



28393616666, * A-ll-ii, B-I-1i1, C-I1I-1v, D-IV-i

28393616667, % A-ll-, B-111-iv, C-I-iii, D-IV-i

28393616668, v A-1lI-ii, B-1-iii, C-TV-iv, D-11-i

Question Number : 8 Question Id : 2839364168 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Grasses have special mechanism to produce seeds without fertilization

Reason (R):  Fruits can be produced without fertilization of ovary

D3350 (A): H0b580 BHom dSToh 88T (H8:E 0iro| @80 4G 2réod &okhed
5560 (R): @0@3a00 300586 ToSK0ET Hero e )8 D)

The correct option among the following is
& (208 20508 OO

Options :

(A) and (R) are true. (R) 1s the correct explanation for (A)
28393616669, * (A) 085 (R) HOTI, (A) 8 (R) S8 DadBea

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616670, ¢ (A) DOAW (R) ORI, 5% (A) § (R) SO0 adGed 57

(A) is true but (R) is false
28393616671, % (A) Q20 5 (R) &a))

(A) is false but (R) is true
28393616672, % (A) &) 5 (R) d230



Question Number : 9 Question Id : 2839364169 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Floral formula of Mustard Plant is

232 BwE) DAY D0BA0 DA

Options :

Ebr
28393616673, %

Ebr
28393616674, %

28393616675. ¥

Ebr
28393616676, *
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Question Number : 10 Question Id : 2839364170 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Natural system of classification is proposed in

Hares 08B 3555 A DBTOS RS

Options:

Families of Flowering plants
TFDOV e DSO0H 03 )

28393616677. #



Historia plantarum
28393616678, ¥ =% OO e 0erdad

Genera plantarum

58393616679, ¢ ZVT" 0TS

Species plantarum

& _8 =
28393616680, % CN0R alFOErG)

Question Number : 11 Question Id : 2839364171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Arrange the types of chromosomes based on length of the arms and centromere from the

given characteristics respectively.
Terminal centromere, one long arm

Extreme short arm, two equal arms

20O G O oE oD erdorr (808 ©F e 8000 SBEJM
S 850 @08 Y

5565 0| oWE, 2.8 FETS 20

S5 e 2T , Both Dk 2mT0YeN

Options :

Metacentric, Submetacentric, Telocentric, Acrocentric
58393616681, % DT OESE, D5 e oSS, e3¢5° Doe3S, e(E Doess

Telocentric, Submetacentric, Acrocentric, Metacentric
-8393616682. v " ROIE3E, 05 Doer Do(e3E, e R00(¢35, Boero(¢3E

28393616683.



Acrocentric, Metacentric, Submetacentric, Telocentric
% @18 20(¢35, Der0(e35, DS Dero(e3s, S DoE3s

Telocentric, Metacentric, Acrocentric, Submetacentric
58393616684, % £S5 O35, er0(¢S5, es(§ 0|35, DB Der o| ¢35

Question Number : 12 Question Id : 2839364172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following table

1) Interphase nucleus synthesis phase metabolically active
1)  Nucleosome two coils Histone

IlI) Contractile vacuole  Excretion single membrane
[V) Lysosomes cistrans faces Autolysis

Identify correct pair,

& 1808 HEIED 9350550 TS

) eoedd Sodso DoBNED O B 8ad G0 odosore
) ogdoirds o OEen NN

) ~oSo8s Y (Sab 865 £250

V) SFsnen R (67D Sngren D 5OHODD B

R0 22680 HO oYW

Options :

28393616685, % 1L 1V

28393616686, # 1L, IV

28393616687, ¢ 1 11

28393616688, % I, 11



Question Number : 13 Question Id : 2839364173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Tonoplast facilitates the transport of ions against concentration gradient,
Reason(R) : Concentration of ions is significantly higher in the vacuole than cytoplasm
NS0 (A) 1 PSS [d3cach K SB30%0rT 685 P8 @0irS © SaTer K &)
500 (R)  : 0 © M % 15550 & $oB 085S @30 ot

The correct option among the following is
%1800 00 )FOS HOTSO

Options :

(A) and (R) are true. (R) is the correct explanation for (A)
28393616689, ¢ (A) 0O (R) S8ZHR, (A) 8 (R) SO Dd8ed

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616690, % (A) 0BG (R) 08QDH0), 57V (A) § (R) SO Dadded 5°C

(A) 1s true but (R) 1s false
28393616691, # (A) V20 5% (R) &)

(A) is false but (R) is true
28393616692, * (A) @) 5°Q (R) dz0

Question Number : 14 Question Id : 2839364174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The biomolecules which are acid insoluble fraction and molecular weight more than
10000 daltons are

10000 S ) §5) @A @e 2rEsm §6) 38D e|T5eioh B2y denaen

[) Polysaccharides

FOTPDH)

II) Nucleic acids
B0/ &95mren

[Il) Lipids
OD&)

IV) Proteins
188

Options :

28393616693, # 1, IIL IV

28393616694, * 1L 11, IV

28393616695, * L 11, 111

28393616696, ¢ 1, 1L, IV

Question Number : 15 Question Id : 2839364175 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List -1 List —1I List — 11
A)  Guanine [) Cytidylic acid i) Carboxylic amino bond
B) Cytosine II) Purine 1) Cytidine
C)  Peptide bond [II) Heteropolymer i)  Angiosperms
D) Chitin [V) Dehydration 1v) 2C-N rings
1808 T¢3R 2eb DAL
e — | A || e -l
INER IS ) 263605 6o ) 507895 9D 2080
B) DE™S 1) B i) NSRS
C) w»RB20d0 1) wrachFODE i) @S98 Daren
D) BB IV) QGOEES0 iv) 2C-N Seofsnen
Options :
28393616697, # A-II-i1, B-IlI-tv,  C-I-11, D-1V-i
28393616698, # A—ll-—-lll, B—l"iv, 'C-'”]"ll., D—lv—]
28393616699, + f’\.-‘“‘-i‘b", B‘-l“ii, C“IV“L D"“l"lll
28393616700, % ﬁ—[-i‘ip" B-“-—lll.. ':.,-|—1[:l-|f|,| DFIV"]

Question Number : 16 Question Id : 2839364176 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When pollen mother cell of Apple plant undergoes meiotic division, number of
chromatids present in Anaphase I, Anaphase II and number of bivalents respectively
are

&0 HTHDLD SrebyEeao §oHBGe eiessd oA I, Hercddd -1, ey - I,
oS (EAre5) Hops HOA BIBoS © Do SEHT



Options :

28393616701, # 34, 34, 34

28393616702, ¢ 34 17, 17

28393616703, # 34, 17,34

28393616704, % 17,17, 34

Question Number : 17 Question Id : 2839364177 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lysigenous Cavities are seen in
02T E0STTreD D3 BrssT )

Options :
Monocot roots
28393616705, % BT 3
Dicot roots
B 55EDs I

28393616706. #

Monocot stems

18393616707 v 5O¥D somen

Dicot stems

28393616708, * B §SFD2 oD



Question Number : 18 Question Id : 2839364178 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sunken stomata are present in the leaves of
AK225S HibSoTTren S JErereS HoLron

Options :
Hydrilla
28393616709, % B
Nerium
28393616710. ¢ {%60‘3}5}
Typha
28393616711. = @iﬁ
Salvinia
& sA0H

28393616712. =

Question Number : 19 Question Id : 2839364179 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Four cells A, B, C and D are placed in different water potentials solutions given below.

Choose the pair of cells which exhibit same type of osmic flow
A, B, C 58050 D arenth Seren 3815 358 |SerereS 800 DES0T GodaBGS6.
2,8 D000 | KT8 DO, (00t SETe 2680 i) Fodald

Cell Solution
8620 |CFa3820
A P=-005 ¥Y=-02
B: ¥=-02 ¥=_0.001
C: ¥=-0.001 Ve 103
D: ¥=-06 =005
Options :

A and C : Exosmosis
28393616713, v A s08AkD C: 2rdefl a0

B and C : Endosmosis

28393616714, % B 080N C: 088K 580

B and D : Exosmosis
28393616715, % B <000 D: 235O0

A and D : Endosmosis
28393616716, % A HOAW D: @085 STHIGR0

Question Number : 20 Question Id : 2839364180 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 ¢3Q 23ed HShhadwn
List — I (Element) List — II (Significance)
DEE — I (SorerEssw) H63E — 11 (|30 eb)
A. P [. Stabilizing protein structure
19638 Qome0 HBES
B. S [I. Maintain anion cation balance
BIOTN — SPLASPN © ededersed
& N [1I. Constituent of certain proteins
TS~ © e@dneddo
D. K IV. Constituent of vitamins
DI © eEE0
Options :
2839361 6717 o 1‘".1 ot I”, B e l.. {: = IV. D = I]
28393616718, ®* A—1V, B, C-1,  D-1I
28393616719, % A-1I1, B-II, C-1, D-1V
28393616720, * A~ B-1V,  C-II, D-I

Question Number : 21 Question Id : 2839364181 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Enzymes are inactivated at low temperature
Reason (R) : Temperature changes the structure of the substrate
D50 (A)  : eebrer ) gf(fiehen OB Ok |BOirSSromr Do
8020 (R) &5 @5 HTPPron ATRET), SrBd 3.

The correct option among the following is
&3 18060 DD IFTOS HOTIE



Options :

(A) and (R) are true, (R) 1s the correct explanation for (A)
28393616721, % (A) 003 (R) S8R, (A) § (R) SO0 D58

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616722, % (A) 2O (R) SBQDSD, 5% (A) 8§ (R) 08D D58ed 57

(A) 1s true but (R) 1s false
28393616723, ¢ (A) Q20 5 (R) &)

(A) is false but (R) is true
28393616724, # (A) $3)) 5% (R) Q20

Question Number : 22 Question Id : 2839364182 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Three hexoses are produced as net gain in calvin cycle by the assimilatory power
generated in noncyclic photophosphorylation with 36 water molecules. The ratio of

0; released to that of ATP generated 1s

36 A& 00O DAABTAODNER @dBAH JO(FTS Sared BwE), arsof 566 3§ &
59 48 SO0HSNS Surchy T8 IR €0 AEBErBSMT DEIBSD. IBSBS 02 % ded )3
TOH2AD ATP © D& N

Options :
28393616725, % 3 ° 1

28393616726, % 3 : 2

28393616727. ¢ 1 & 1



28393616728, % 4: 1

Question Number : 23 Question Id : 2839364183 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect statements among the following

I. When only PS 1 is functional, cyclic flow of electrons is not possible
II. The breakdown of the gradient provides enough energy to make the enzyme synthesis
I11. The NADP reductase enzyme is located on the thylakoid membrane
IV. Proton gradient increases due to PC and Cyt £,

1808 €3 &0 NOTR TN D00
L. PST (Basres 50m &e9):900 SIS0 0TS Sarer £ 95580 &0
IL (5356365 DD 165)0 OB D0BAEE FHONN 48 A De8r 10

IIL Bosond ¢ 550 0§ NADP 835 0B &0

IV. PC 600 Cyt £ Sered |8P¢ra © [2eieaed fed

Options :

28393616729, # L 11, 111

28393616730, ¢ 1, L, IV

28393616731, * 1L HL 1V

28393616732, % L 1L, 1V



Question Number : 24 Question Id : 2839364184 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
How many molecules of FADH are produced per every glucose molecule in
aerobic respiration

TO50 Doy 5 EADES’ (98 PSR 9S50 A ©enye) FADH, treh)e
DahaBod

Options :

Four
28393616733. * e

Three
28393616734, ¥ oI°CD

One
28393616735, # 2.8¢3

Two
28393616736, ¢¥ OOCL®

Question Number : 25 Question Id : 2839364185 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The reaction commonly involved in calvin cycle and aerobic respiration
1. Phosphorylation
[I. Condensation
I11. Carboxylation
V. Dephosphorylation

58 £ SOAN0 §ed, FOAiNDeTeS 75 (80D BoAoE3S D S 98
I rr)08am
I1. dofreao
I1. s70°)8 yBa™
IV. & 0838

Options :

28393616737, * I, I, 11

28393616738, % L LI, IV

28393616739, v L, IL IV

28393616740, * 1L 111 IV

Question Number : 26 Question Id : 2839364186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List—1 List—1I List— 11
A)  Decapitation [) Coconut milk i) Rice plants
B) Zeatin [1) Root hair formation i1) Tea plantation
C) Ethylene [II) Lateral buds i) Moist sand
D) Keep Layering of  IV) Stratification iv) New leaves
seeds
1808 a3 2¢d HBHAW
erde -1 wde -l erde - 111
A) WwETd0 [) Sa)8aren i) S03wE)en
B) 20iréde ) Srodrosc)ty i) S0 SLe
050
C) [BOS ) aré)Sosen i) & 208
D) ddTod Fdenm ptpdy  IV) 183N iv)  Areded HEren
Options :
28393616741, % ﬁ“[V“ll, B“lll"l‘b". C“l“lll. D'-[l-l
28393616742, ¢ A-“I-]L. B—I—i‘r’, C-Il-i, D-EV-]II
28393616743, # A..-IV—L B-”—ll], c—l-i\". D-111-11
28393616744, % A-III-ii, B-I1-1v, C-I-iii, D-1V-i

Question Number : 27 Question Id : 2839364187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Choose the correct pair from the following
A) E.coli — Retains copy of genetic material
B) Streptococcus pneumonia — F™ and F~ cells

C) Transduction — Capture of naked DNA

1808 a7¢3 DO OB 25 o) Teddednd

A) 2. 88 — 208 DTG 580D SoHTDD

B) | &rss0 Qs3rdod  — FF 0805w F deren

C) 20535350 — 5) DNA & HEpEoe
Options :

28393616745, ¥ B, C

28393616746, % B

28393616747. ¢ A

28393616748, % A, C

Question Number : 28 Question Id : 2839364188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the viruses in the same order based on the morphology given below.

e Spikes
e Roughly spherical envelop
* Rigid long rods

D 5808 S0 (Bo8 ¢S 0D BER O SB E006S ey Fdvedn

o  Frd30a
o 0HDO Nwrsd s B0
o BHRARA ) omren

Options :

Rabies virus, Polio virus, Measles virus

28393616749, % OO BED, FOTy FED , RS BE

Polio virus, Herpes simplex virus, Rabies virus
28393616750, % PO SER, 2GR VORE) JEV, BHD IER

Measles virus, Influenza virus, Rabies virus

28303616751, v WO BERV, BS HAW0zr IED, BOD 3D

Rabies virus, Tobaco mosaic virus, Polio virus
-8393616752. % OOV BER, %28 Jwerons 8V, SO IED

Question Number : 29 Question Id : 2839364189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When a tall pea plant crossed with dwarf pea plant the F» generation produced 390 tall

and 130 dwarf plants, then how many plants will show Heterozygous condition.

2.8 P 0T Fw&) T FE oo TS D0¥8m0 TS , Fy 880
390 &Pched) o005 130 EPEIRnELEN SIS AR, F0EEN Do CNNEVB tira)ed

Options:



28393616753, ¥ 130

28393616754, ¢ 260

28393616755, ¥ 390

28393616756, % 220

Question Number : 30 Question Id : 2839364190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following and identify the wrong combination

I) Fy hybrid Tt Dominant

II) RRYy Wrinkled vellow 2/16

II) Allele Alternate forms of same gene unit of inheritance
IV) Chromosome  Cell division Two genomes

& 18060 7¢3 ©:0HR30 T 05 Beded (HOod0H

I) F1 do%d0 Tt 2ar0ed0

II) RRYy AWaTETIVRV IS 2/16

III) ciwifzaie o 2,3 2005 OI0E) ARG O5 e @S03E |DITR0

IV) 3 e DB B0k B en
Options :

28393616757, ¢ 1L, 1V

28393616758, # 1, 111



28393616759, % L IV

28393616760, * 11, 111

Question Number : 31 Question Id : 2839364191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Seggregation of traits is independent of one another

Reason (R) : Dominant character appears only in heterozygous state
AF)B0(A)  eftre HY0E 00 2.8 T Qo HTFEE N tdoeo
55800 (R) 1 DA dnifza PAES Srbad ardes e 20 EDrow

The correct option among the following is
& 808 0050 HBTDIE

Options :

(A) and (R) are true, (R) 1s the correct explanation for (A)
28393616761, % (A) 08AW (R) 8GR, (A) § (R) SOTDS dedSed

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616762, % (A) HBAW (R) KBTI, 5% (A) § (R) DO DSB€ 5°¢0

(A) 1s true but (R) 1s false
28393616763, ¢ (A) Q20 5 (R) &)

(A) is false but (R) is true
28393616764, # (A) Sa)) 5°Q (R) D20

Question Number : 32 Question Id : 2839364192 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Chromosomal DNA with 40% Adenine and 60% Guanine replicated during S phase

of interphase. Then ratio of Thymine and Cytosine in that DNA after replication

respectively

0SSR S SIS 40% eBAS HOCH 60% S O [FRrrnd DNA
DBEYB ToOIE. & DNA DBE)B SBared HoDHE OGN DERS © AN
AN & Q0T HOtheh

Options :
28393616765, % 1:1
28393616766, ¥ 3:2

28393616767, ¢ 2:3

28393616768, * 2:4

Question Number : 33 Question Id : 2839364193 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List List 11
A) Serine [) AUG
B) Methionine I GGG
C) Lysine IIT) UCU
D) Glycine V) AAA
1808 T7E3R) 2500w
e | e Il
A) 2385 I) AUG
B) ROAHAD I GGG
C) 8BS [II) UCU
D) TS IV) AAA
Options :
28393616769, ¥ A-1l, B-I, C-1V, D-I1I
28393616770, * A-Il, B-1V, C-1. D-I11
28393616771, v A-lL B-1, C-IV, D-11
28393616772, % A-IlL, B-1V, C-1, D-II

Question Number : 34 Question Id : 2839364194 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : All the codons of genetic code identify more than one type of amino acid

Reason (R) :In Eukaryotes transcription unit is monocistronic which is synthesized

from DNA

AS0(A) =g HoTS0 M) ®) HoTEen 2,863 0T 80)s GRS BIFOS
EOVRARV(OW)

00 R) 12 F0188 E50 SR e Bnd (DLreo DS s m DNA &0d
030 2260

The correct option among the following is

& 800 20505 DTG

Options :

(A) and (R) are true, (R) 1s the correct explanation for (A)
28393616773, % (A) 0B (R) SO, (A) § (R) DSBS Dad&ea

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616774, % (A) s8I (R) SO, 5°R (A) § (R) SOTS Dedded 5°¢%

(A) is true but (R) is false
28393616775, % (A) 020 5 (R) &)

(A) is false but (R) is true
28393616776, ¢ (A) 83 % (R) Q20

Question Number : 35 Question Id : 2839364195 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the correct statements from the following

I) RNA also functions as adapter molecule

IT) Base pairing confers unique property to the polynucleotide chains
III) DNA replication occurs after chromosomal division

IV) DNA replication occurs frequently in a cell

&1 806 o763 0D BTN WO o)) Feddadn

I) RNA &900 @960y S5 HATR0H

IT) gooren 2650 O ST TGE Fennody S35 580 ™ @odT0H
II) (E3rSe D5z ddared DNA (@388 2255

IV) DNA [5H83%)8 %220 &5 S0 2350%ed

Options :

28393616777, % H & IV

28393616778, ¢ 1 & 11

28393616779, % 1 & 11

28393616780, ¥ 1 & III

Question Number : 36 Question Id : 2839364196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the incorrect statements from the following

I) Selectable marker eliminate non-transformants

IT) Cloning vector should have low molecular weight

IIT) Retrovirus cannot be used to deliver genes into animal cells

IV) Agarose gel separates DNA fragments at random

1B0d 57¢3 AD0D NO5R) TP LMD DOTRT W

I) 558590 TAHEAY 572855 €0 HOSES R 77¢3Q Serfiarron
II) §Q0R arsrsren 507 eemerdo O aowmd

IID) B¢’ B8R 23068 Ze76Y 2365055900 HODBE DATBTAOIE
IV) @880 26 DNA 20&ererd airddyd )E0mr S Do

Options:

28393616781, ® 1 & 11

28393616782, v L1 & 1V

28393616783, % 1 & 111

28393616784, % 1 & IV

Question Number : 37 Question Id : 2839364197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

ListI ListIT

A) Recognition sequence I) Different locations

B) Staggered cut IT) Joining of fragments

C) Cohesive ends IIT) Hind IT

D) Ligase IV Overlapping stretches
26500

erd)E | prd)e 11

A) M0 Eedw I) DA Farew

B) 0 9588 IT) sSng)en eehs) e

C) e0e5%0)a Foen III) Hind I

D) s IV) evedrsa) ariedod
Options :
2839361 6785 F4 EJ‘L-'IV, B““[. (“'l. D—“
28393616786, % A-Il, B-I, C-IIL, D-1V

Question Number : 38 Question Id : 2839364198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
Bo& a3 236523000

List — I (Transgenic Plant)
eres — [ D058 Jwd),

A. Papaya I
ARVEATOW!
B. Bt-Cotton 1.
Bt — [5e3
C. Potato IIL
ey eS”
D. Tomato IV.
APWEAY
Options :
28393616789. * A-l, B-11,
28393616790, ¢ A-1V, B-111,
28393616791, ¥ A1V, B-1I1.
28393616792, * A I, B-1V,

Question Number : 39 Question Id : 2839364199 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

List — IT (Resistance to)
28¢5 — I DESEeS IRV PNTA
Bacteria

28005

Fungus

OS50

Insects

gerseen)

Ring spot virus

Boh &)t I8

C-111, D-IV
C-11, D-1
C-I,

D-I1

C-I1, D-1I

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pusa komal for bacterial blight and pusa swarnim for white rust are processed in

these crops respectively

2r800HS B3 TEL e FS D005 BVE 505055 Shen TEL Sy 0500

& 506 FELOES SKNT PRV TAH2E0H
Options :

28393616793.



Wheat and Brassica
% FC0 S0805w (2rRse

Cauliflower and chilli

58393616794, % S ORD0 HOAKD DED

Brassica and chilhi
28393616795, % (2FRS" 0B BN

Cow pea and Brassica
28393616796, ¢ & &) O (2rVE°

Question Number : 40 Question Id : 2839364200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the lists and find out correct match

List—1 List — 11 List — II1
A) SCP [) P Carotene 1) High protein
B)  Atlas 66 I1) Vitamin C i) Algae
C) IARI I1II) Spirulina 1) Rice
D)  Golden rice IV) Wheat 1v) Bitter gourd

e 850000 TR DB HOTD 265 HB0TIL

e - | arde -1 e — Il
A) SCP ) BS8ES ) @O &S
B) e¢rd 66 ) DS C ii) 3300
C) IARI ) )60 iii) &0
D) 20md 36 IV) Ao iv) 556
Options :

28393616797, % A-Il-i, B-1V-ii, C-Ill-iv, D-1-iii



28393616798, A—]][—Il. B—IV-L (T—][—i"v'. D-1-111

28393616799, ® A-IV-1, B-111-11, C-l-iv, D-11-1i1

28393616800, ¥ A-I-1v, B-111-1i, C-1V-1ii, D-11-1
Zoology

Section Id : 28393694
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Sub-Section Id : 28393694

Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 2839364201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following is an ex-situ conservation method.
806 8S° .58 Qe @l HobFe DEPHo

Options :

Sanctuaries
28393616801, % LPIEFTETIED

Sacred groves
28393616802, ¥ &rHS Soren

Biosphere reserves

28393616803, * G0N ¥ HEES Solgren

Cryopreservation
28393616804, ¥ ©883D55

Question Number : 42 Question Id : 2839364202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Species is a genetic unit
Reason (R) : Species is reproductively isolated from the individuals of other species

Adydo (A) : &8 8 ey (ree0
w800 (R) : a8 &8 dihen 888 ertho 3063 ded® (S8%8 D558 (S8 e,

The correct option among the following is
%1800 0O HOTPIE

Options :

A and R are true, R is correct explanation for A
28393616805, % A 00 RAmo. A 8 REPS DSes

28393616806. ¥



A and R are true, but R is not correct explanation for A
A 5006c5n R =0, 520 A & R {3585 D568 5080

A is true. But R is false
28393616807, ¥ A deo. == R Qao =otH

A 1s false. But R 1s true
28393616808, # A Reo =2th. =70 R Jeo.

Question Number : 43 Question Id : 2839364203 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among triplolastic animals, these are asymmetrical
BR08 modhHeod® vl edHSorr sotra.
Options :
Larvae of echinoderms

58393616800, # VBN ¢58) Gogiseen

Crustaceans

38,
28393616810, % & BROVY

Adult gastropods
28393616811, v &% MESerEes

Ctenophores

o]
28393616812, % G PEen

Question Number : 44 Question Id : 2839364204 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements:
[. Microglial cells develop from endoderm
[I. Oligodendrocytes form myelin sheath
III. Astrocytes help in blood-brain barrier
IV. Ependymal cells are phagocytic

1Bo& & @ﬁegdi}éo 39, W0 oo Mbodod.
. DE°AS Seren wodo Hod ©dHG Toderaw.
[l 8O GolE"2E) DOS eT)ETY) ST,
. o@ps) rhsmrot S588E08® ©odd Soprabl arerd) D5)BHIan.
[V. 920806 Seren 355 Semen

Options :
28393616813, v 11, 111
28393616814, * L, II

28393616815, # HL IV

28393616816, * 1, I

Question Number : 45 Question Id : 2839364205 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following:

Tissue Example
A. Reticular tissue I. Ligament
B. Dense regular connective tissue [I. Vocal cords
C. Dense irregular connective tissue III. Basement membrane
D. Elastic connective tissue [V. Eustachian tubes

V. Periosteum
§od 8 asnssod.

86 &0 ATPSee
A. ere¥ Boereo [. 2080
B. Folfias (Ecing Sodras Snereo II. 38 dolden
C. FolBad B 82r8 HSo@rel Swmereo [1I. esc&ies sedo
D. 2858 Sodres Sweroo V. (S 8:areren
V. S8

Options :

28393616817, % A—IILB-1,C-1V,D-1I

28393616818, # A=ILB-LC~-1ILD-V

28393616819. v A—lILLB-1,C-V,D-1I

28393616820. * A—IV,B-I,C-1, D-1II

Question Number : 46 Question Id : 2839364206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct combinations

S.No. Phylum Salient feature Example
I Porifera Cnidoblasts Svcon
II Cnidaria Tissue level organisation  Adamsia

II Annelida Malpighian tubules Nereis

IV Echinodermata Water vascular system Antedon

Bod worzren etigchHiio IN FPS H¥Doe HYoSod :

N.50. Eﬁgo Eﬁn% eFeo =T AL e )
I 588 poe Bod8eren D57
1I Alnlelovri Seaezre) %L;QIJ Doogeo  daedale
T ©IDGe :ﬁ]"’@ﬂﬁdﬁjg oD Een o5

v agﬁstﬁfﬁééav 20 (D586 B atrodices

Options :

28393616821, % 1 11
28393616822, * UL IV
28393616823, # I, 111

28393616824, v 1L IV

Question Number : 47 Question Id : 2839364207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Statement I : Cestodes lack digestive system
Statement II : Arachnids have green glands for excretion

wodo I : 2PGed L8555 s,
wodo II : Qord\Eed® b (Koen D5Pse0faren

The correct option among the following is
& 1806 2050 HOTHIO

Options :

Both statement I and statement Il are correct

Both statement I and statement Il are false

Statement | is correct. But statement II is false
28393616827, v ©o%0 1 88138, =20 wodo Il 3816 s

Statement I 1s false. But statement 11 1s correct

Question Number : 48 Question Id : 2839364208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : The heart of fishes is called branchial heart

Reason (R)  : Only deoxygenated blood flows through it.
Do (A) : Thes® HOBH eessd SEao @otrd.
56600 (R)  : desdyaJnéd 8o Sr@d ol omoe (HD8rRod.

The correct option among the following is
& 1808 DD IFOS HOTSE

Options :



A and R are true. R is correct explanation for A
28393616829, ¥ A 0BAN R JJID. A & R {83 Deddes

A and R are true, but R is not correct explanation for A
28393616830, v A 300G R $BHD, 520 A 8 R {85 Di¥es 9¢h

A is true. But R is false
28393616831, # A Reo 570 R Deso s

A is false. But R is true
28393616832, # A ®Meso 5=t 57w R Qeaso.

Question Number : 49 Question Id : 2839364209 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Number of cranial nerves in snakes that belong to class Reptilia

ﬁﬁﬁé&bﬁ g8 BobS Soed® Sare e Sogy

Options :
12 pairs
28393616833, ¥ 12 esdben

10 pairs
28393616834, ¢ 10 a:den

8 pairs
28393616835, # & aden

14 pairs
28393616836. * 14 aaden



Question Number : 50 Question Id : 2839364210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrongly paired one

BHpre el 30 6 PR HBoUok.
Options :

Morphine - Effective sedative

S - DlNoEN el Hoth
28393616837. # ! @ e =

Heroin - Slows down the body functions

58393616838, % FOPONS - 08 Stged Jkyhod Tkod

Cocaine - Interferes in the transport of dopamine

28393616830, % S0 ~ EVBS Barewrd” Eo

Amphitamine — Sleeping pill
28393616840, v EOPORS = A S

Question Number : 51 Question Id : 2839364211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Widal test is the confirmatory test for
oS $08 & gH Voedses HOF

Options :

Malaria
28393616841, # HHBBAST



Pneumonia

oy
28393616842, % ~O5RTRA®

Cholera

28393616843, ¥ EeoUe

Typhoid

28393616844, v BaronE

Question Number : 52 Question Id : 2839364212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement I : Dormant stages of Plasmodium in the liver cells of man are called hypnozoites.

Statement II : Larva of Wuchereria bancrofti performs extra intestinal migration in man.

wodo I: $m590 S8 Swred® Fdfdado Gy ebh 6of $dus trihemantien wotrl)

wodo I : 4506afr arvotgﬂg Bogfbo ErSHAS erafiold B B5go Tiob.

The correct option among the following is
& 1208 HOIFOS HOTIA

Options :

Statement | and statement Il are correct

Statement | and statement Il are false

Statement I is correct. But statement 11 is false

28393616847, v ©o%0 1 8838, =0 wodo Il ¥BJ& =0



Statement I is false. But statement 11 is correct

28393616848, * eodo | ﬁ@é&: 5o, Sea) @odo |l EC)EFSE:

Question Number : 53 Question Id : 2839364213 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tropical splenomegaly syndrome 1s a symptom of this disease
adote Y NS BOEDH & T efpo

Options :
Filaria

28393616849, % ROOCT

Malaria

28393616850, ¥ oBBAI®

Typhoid
28393616851, % SFONE

Pneumonia

28393616852, % BRIV

Question Number : 54 Question Id : 2839364214 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



People generally suffer from nausea, fatigue, heart palpitations etc. at high
altitudes like Rohtang pass due to changes in
SmerS PR S0 I8S (HATeER Hiher TR, Bdb, OFTEE FEAD
3108 Hod ﬂéﬁ”ﬂié:- PHESEFAS 80 DS Sr8nB
Options :

Temperature, Light

28393616853, x SIS, 708

Light, Pressure
B,
28393616854, ¥ SP08, RO

Oxygen, Carbondioxide

28393616855, % TRNES, THIE «F)E

Pressure, Oxygen

&
28393616856, v 2&00, ©8)sS

Question Number : 55 Question Id : 2839364215 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this type of interspecific interactions the organisms are involved in co-evolution

1 BEDN o ;i)cﬁé ®o88 12565@655 £5en He HBepdoost {g{:}ﬁacﬁ}o ZOA éobtron
Options :

Mutualism
58393616857, v EDsTsEad $% %o

Commensalism

v
28393616858, % SrgessEo



Predation

28393616859, * SOWPESE0

Competition

28393616860. # P80

Question Number : 56 Question Id : 2839364216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Observe the following illustration of a pyramid. It represents
805 HEDE Herdy $68D0I08. ©b BN FrDK0b.

Post reproductive stages

(858 56 &4

Reproductive stages
38558 A

H Pre reproductive stages
g8 a6 4

Options :

Growing Population
RENDHY) wToFT

28393616861. ¥

Stable Population

8 oo
28303616862, % B° FTF

Declining Population

28393616863, ® SOILEY) wTegr

28393616864.



Population Density
% B3RTPET Sro|XSds

Question Number : 57 Question Id : 2839364217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct statements:

[.  Oriented locomotor movement of an organism towards or away from light is
called photokinesis.

[I.  Influence of light on non directional movement of organism is known as
phototaxis.

[1I.  The orientation to light of a non-motile organism (such as plant or plant part) is
known as phototropism.

[V. The response of organisms for the photoperiod is known as photoperiodism.

806 H eabos 3R $8% 0Tk fHgodod.

[ 508 Srcrd8 eibibmore 88 808 bded® dive BAFTHRRY) S08
eisdo wotrd.
[ &Ho Ay Sedo dif 208 LolfED HerarQ) 08 wibiseso wotrd.

M. Seodsies dHoomd JBen, B gPrren 5088 HTTN0 BIRR)
508008850 Bolrd.
V. 508 8568 odibeorr 49 5D )08 S8l 5708 5Pl Wolrd.

Options :

28393616865, * L 11
28393616866 ¢ 111, IV
28393616867. * 1, 11

28393616868, # 1L, IV



Question Number : 58 Question Id : 2839364218 Question Type : MCQ Option Shuffling : Yes
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Match the following :
Digestive glands
A. Salivary glands
B. Gastric glands
C. Pancreas
D. Intestinal glands

808 &0 a8BES08.
83 (foghen
A. ererae (Hogoe
B. 2858 (Hogven
C. 850
D. ol (Hogoen

Options :

28393616869, * A—IILLB-1V,C-1, D-II

Enzyme / Component

[. Carboxypeptidase

II. Aminopeptidase

II1. Lysozyme

IV. Bilirubin

V. Castle’s intrinsic factor

Qog@dw [ Sodhdéo

. sPondyDgonter

I1. @@SGEJ%DJJ&EJ

I11. 8%z

[V. BendrdS

V. 52286 508 se8Eo

28393616870 * A—ILB -1, C-1II,D - IV

28393616871 v A—1ILB-V,C-1,D-1I

28393616872. * A=V, B-1II,C-1V,D -1
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Assertion (A) : CO; that enters the RBC reacts with water of cytoplasm and forms carbonic acid.

Reason (R) : RBC contain a very high concentration of carbonic anhydrase.

80 (A) : RBC &8 363 COp oD Ee a’}mgo@% haa gon 506533505 @0 26)5E00.
s8m0 (R) : Q888 Seros® wfE $68rm06" somE aS3rEe dotnob.

The correct option among the following is

& 1800 HAITOS DO

Options :

A and R are true, R is correct explanation for A
28393616873, v A 2000 R 5832, A § R 573 D566

A and R are true, but R is not correct explanation for A
28393616874, % A 0w R $BHD, 520 A & R 385 Didee s

A 1s true. But R 1s false
28393616875, ¥ A Mo, 570 R Jao =0t

A is false. But R is true
28393616876. ¥ A Reso s°th. 500 R a0,
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The disease caused due to deposition of iron particles in tissues is
Srereros’® mi%d Do FodHndmEso Sy SOR o5

Options:



Silicosis
28393616877. * DOERT

Asbestosis

L= - =
28303616878, % SOBLEROD

Emphysema

-~ 8,
28393616879, % O&

Siderosis
28393616880, ¥ NATTRR
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Chyliferous duct empties the lymph into the venous system at the junction of
PODUS aeirg FRBIY DOKGEHE'E DB &resdS® Ddotse Bkod.
Options:

Right subclavian vein and internal jugular vein
28393616881. # SN @5535@5“ D8, @0l K¥ DY

Left internal jugular vein and left subclavian vein
28393616882, ¢ DSE woSEKE DY, DD e s Y

Left subclavian vein and left precaval vein

58303616883, % DEDH OFE DS, LB FoBy LSt 1Y

Right subclavian vein and right precaval vein

28303616384, & DO @6 BEE® DY, HE ey HiFF BY
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Statement I : Warfarin is antagonistic to vitamin K.

Statement II : Clotting of blood in blood banks is prevented by the addition of sodium oxalate.
wodo I 1 amonBS ks K 8 ddhtforr 57 Tob.

wodo 1T : 8596 Soired® 88 Hotsdo ardoseds Ys:8 Fdaho e¥Bs Swherth

The correct option among the following is
& 808 D )FOS HOTBNO
Options :

Both statement I and statement II are correct
28393616885, v ©0€0 I, @odo Il 5835

Both statement I and statement II are false

Statement | 1s correct. But statement Il 1s false

Statement [ 1s false. But statement II 1s true
28393616888, ¥ Lo¥o 1 HBR6 seeh. 577 oo Il ¥BJ8
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Study the following and 1dentify the correct statements:

[ The ascending limb of loop of Henle is impermeable to water,

[I. The products that are not reabsorbed in renal tubule of nephron are called low threshold
substances.

[1l. Water reabsorption in DCT of nephron is called obligatory reabsorption.

[V. Juxta glomerular cells of nephron secrete renin.

808 8 eifedso I $3 ®oed HBoSot.

[ TR 8 ob'tr 0% D88 FBRY ek,

1. ée)é% [9smeacy é&é@ T8 oo H%s8%e ToLd ?.’Jmc;aeﬁa wer o E’qu;w @otPd.
L. 5%, @dre Grsy St PR B ety ©FEOE 98 wotrd.
[V. &%) Bdrnd abir mided Swren 8IS [HITw.

Options:

28393616889, * 1, 11
28393616890, * 11, 111
28393616891, ® L IV

28393616892, ¥ L, IV
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Hensen’s disc in a myofibril is less darker than the edges of the A-band due to

80K8 $r8) BoBHHE*D ITIT) (B8 diee A - H8 Ko FoBo 88 SYos®

Goer S 280,
Options :



Presence of thick filaments only
78393616893, v B¥I0 SodHHen SrED dokéo

Presence of thin filaments only

-8393616894. % PR SodHen HrEdDH sokio

Presence of both thick and thin filaments

28393616895, % D¥RO SodHe, B Soden Bolr GoHo

Presence of Krause’s membrane

=B
28393616896, * S © GiH0 GOEL0
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Match the following :

Joint Example
A. Ball and socket joint I. Inter carpal joints
B. Hinge joint [1. Between occipital condyles and atlas
C. Gliding joint [1I. Between femur and pelvic girdle
D. Condyloid joint IV. Knee

V. Between carpals and metacarpals
508 & asissod.

fen aorarden
A. 208 A e [. w08t SHdaol gﬁg
B. %8 a0 Se I1. 85580, of s8%8o o
C. =85 e 1. & dkws, 8% Dyo D
D. sogeront Sen [V, 3rseen

V. Eﬁazﬁmomﬂﬁuméw, étﬁa}*"%m ey
Options:

28393616897.



x A-III, B-1I, C-I, D-V

28393616898, ®# A-V, B-I, C-1V, D-III

28393616899+ A-Ill, B-IV, C-I, D-V

28393616900, ¥ A-1l, B-I,  C-lII, D-IV
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Hair cells of organ of Corti acts as

8 ©0K0E° %% Seren & (rEescene HATFow
Options :

Photo receptors
28393616901, ¥ S°08 [(PIPEre

Chemo receptors
28393616902, % BSVPADS [rdrsten

Thermo receptors

Bt
28393616903, % 98 [(ParsPen

Auditory receptors
28393616904, ¥ (BR8 ([[Pasen



Question Number : 67 Question Id : 2839364227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thyroxine is

ol a8

Options :

Amine hormone

28393616905, v PN TS

Peptide hormone

08 84S
28393616906, ¥ & ¢

Protein hormone

28393616907, # EPES HEYS

Steroid hormone

o &g eh,
28393616008, % SO°OWE & SpS
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Study the following and pick up the correct combinations

S.No. | Hormone Gland Eg;;:)?:j:::; !
I Vasopressin Pituitary gland Diabetes insipidus
11 Calcitonin Parathyroid gland | Cretinism
11 Cortisol Adrenal gland | Addison’s disease
v Insulin Pancreas | Diabetes insipidus

1808 woeih wiahdo 3% $B5 DEDoHes HBoKs.

. %o0. HES (5o® ofE/eo) [ ([Hgrio
P B 0i0R (0B | GrDes sonhes
[1 5 )RS Foegoeonk (od B8e0
[ |s0~rS whH)E) (KHoh oldQ) b
IV | =508 &0 | GBS aohbEs

Options :

28393616909, * L I

28393616910, * L 1V

28393616911, ¢ 1, LI

28393616912, ¥ 1L 1V
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Mononuclear phagocytes are

D% ol iR



Options :

Kupfer cells
28393616913, ¥ 5°90 Swren

Tu —cells
28393616914, ¥ Th—Seren

Basophils
28393616915, % BV PSeD

Natural Killer cells
28393616916, # mares or0ds Segren
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In HIV infection, number of these cells progressively decrease in human beings

HIV Koo dg &rdde® & Swro Sogy oo ook $ADE00.
Options:

Tc — cells
28393616917, ¥ Tc — Begeen

Nk — cells
28393616918, ¥ Nk — Eegren

Th —cells
28393616919, ¢ Tu - Segeen

28393616920. #



B — cells
B — Besren
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The following are the components of male reproductive system of man in the order

L. Retetestis II. Ejaculatory duct

ITI. Vasa efferentia IV. Seminiferous tubules

V. Vas deferens VL. Urethra VII. Epididymis
Bodd miaid) il ol (Dendd ééc“é%@ﬁﬁj germeen) SN

L. 68 Swafo IL 5038 oo

IMI. %8 ardEen IV. rﬁj@@ﬂcﬁé T8 Een

V. &8 aodr¥ VI 5080 VI 2543808
Options:

28393616921, ¢ IV =21—=1l1 =2 VII =V > 1l - VI

28393616922, % [ 2 IV V S 1l - 11 - VI = VII

28393616923, % VI=2 Il V- VI->Illl-1-1V

28393616924, % IV=21=>V = VIl =1l =11 - VI
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Assertion (A) : In human beings, placenta is haemochroial type.

Reason (R) : Maternal blood comes into direct contact with the chorion.

DBE0 (A) 1 SE3HIER eordind Erars"0ahS 8o
s8g0 (R) : Do HSoedind S S 5808 Komoio DR Gotnod.

The correct option among the following is
&2 1808 DD JTOS HOTDSA

Options :

A and R are true, R is correct explanation for A
28393616925, ¥ A 006d50 R deso. A 8 R {385 d8es

A and R are true, but R is not correct explanation for A
28393616926, # A S506dm R SED, 50 A 8 Rﬁqa_;’a DHB =50

A 1s true. But R 1s false
28393616927, # A Je2o. 508 R QDazo 5o

A is false. But R is true
28393616928, ¥ A Jmo0 ==&, =20 R Deso.
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Multiload 375 is

5HPSE 375 ©Jb a8
Options :

A barrier
28393616929, ¥ ®SE° o



An oral contraceptive pill

28393616930. # ﬁ:‘_@jﬁ]ﬁsiﬁé T8 @

An intra uterine device

-8393616931. v OpEET088 FEo

A contraceptive injection

58393616030, % 10) NE°GE &6 oot
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[f the blood groups of parents are O and AB, these blood groups are not expected in
their children.
g9o(the 88 drren O Hdain AB w08, T8 SON Sosmod® & 8¥ Htren @0k

Options :

28393616933, * A, B

28393616934, * A, O

28393616935, v O, AB

28393616936, % B O
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Study the following and pick up the incorrect statements

I Y - chromosome of Drosophila lacks male determining factor.

II. Inactivation of one of the two X — chromosomes in females is known as Iyonisation
1. Haemophilia - B is an autosomal genetic disorder

IV. Turner’s syndrome is an example for trisomy.

806 8 etfsabio 38 S &) woaed HBoJod,
L (EFerd Y- SarfBod® G Qg8 52650 GoE.

I & &0 od Both X - (Earfond® 2,48 [Bosrdirdom Srotr) oBrIEls sotrd.
I $r3rdoce-B girs (Eardfo 6% ae ang) @a’}%&.

IV. &5 ?‘00@553 @%ﬁioé Ao}
Options:

28393616937, ¥ L, 11

28393616938, ¥ 1L IV

28393616939, * I, I

28393616940, # 1L IV
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When a pure grey bodied (dominant) Drosophila is crossed with a pure black bodied

(recessive) Drosophila, ratio of grey bodied and black bodied Drosophila formed 1s

é}% arid Eﬁgf@a (a?}ﬂgé) (E5FDer, %bcg Je0d éga’g {@Dégé) (E5FDer o Ho8bmo

Bdre EE ards 589, oo EWHpere D58



Options :

28393616941, % 1:2:1

28393616942, % 3 : 1

28393616943, % 1:2:1;3:1

28393616944, v 1+ 0
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Statement I : Peripatus 1s a connecting link between Annelida and Mollusca.
Statement II : Archaeoptervx is a transitional form between Reptilia and Aves.
wodol: @3dms, Invedne Hifs Soged D) WOV
ewodo II :’:16:5&}5“@%, SEes gy dgoss Srdo @@aﬁﬁ:ﬁ%
The correct option among the following is
& 1808 DDIFOS HOTSO

Options :

Both statement | and statement Il are correct

Both statement I and statement II are false

Statement [ is correct. But statement II is false
28393616947 % @080 | §BHH.5°0 wodo Il §BH 0



Statement [ is false. But statement I is correct
28393616948, v £0%0 | ¥0H6 s°eh. 57 wodo 11 BgH6
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If speciation takes place due to geographical isolation, it is called

PRPEE 058'gre Hg 578 arden DEEEPY) K Fore DE)oLrd.

Options :
Anagenesis
28393616949, ¥ ©TBID

Directional evolution
28393616950. # SF0ed SO0

Phyletic evolution
28393616951 % OES HBeHo

Allopatric speciation
28393616952, v OLTEE o 68)8
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Honey bees use this substance to seal the cracks in the honey comb

83 Hepd® DEE HHES FreErds S38Ken o Dardo



Options :
Propolis

28393616953, v (&FFOR

Bee wax

28393616954, % & o

Honey
28393616955, ¥ B

Worker Bee venom

28393616956, ¥ ErO &iie dQo
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In an ECG, shortened Q-T interval indicates

ECG &* Q-T wodbo 8% ¢okéro I Jrdiod
Options :
Tachycardia

28303616057, # PESRAT

Hypokalemia
28393616958, % BRSO

Hyperkalemia
28393616959, % EFHOSODAP

28393616960.



Hypercalcemia
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The Van der Waals’ equation for the gases is given by { P+ i (V-b)=RT Where P is pressure;
'

V is volume; T is absolute temperature; R universal gas constant and a, b are constants. The

dimensional formula of [ﬂ] 1S
RT

P+ i](v-b):RT o% TG0 TO Fom dMEGRS P, V, R H00WT en S8
'

DS, 059057, A8 5 B8 Py AT0E0 OO HE EEF e & HFAN 0. 2, b ew

ﬂ] DSk Fyer
RT

NTP0E0EY) 0N

Options :

28393616961. # [MET-E}

07 30
gl
28393616962. # [ ]

28393616963, # [ML-]T-: ]

M[] Ll"lT[J
28393616964. ¥ J: ]
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A block of mass ‘m’ is attached to the lower end of a spring whose upper end is fixed to a
rigid support. The spring has negligible mass. When the block 1s slightly pulled down and

released, it oscillates with a time period of 3 seconds. When the mass of the block is increased

by 1 kg, the time period of oscillation becomes 5 seconds, then the value of ‘m” in kg is

28 BOTS ()00 1808 QS8 ‘M’ ($e3sT7d 10 AR DAY, D VIGD SIS 2.5
o8 Do, & O 00 5068 erfl SOOS @6 3 1EHO FOTSYS FOSNS
Bomren Bod. By (8550730 1 kg, Dohe) $08 Gomsds sodn § D8He
90038, @910 155503 ‘M’ Dends kg o6

Options :

| W

28393616965, #

| o=

28393616966. #

28393616967, % 9

28393616968, ¢ 16
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A stone is thrown vertically upwards from the ground. When the stone is at a height equal to
half of its maximum height, its speed is 10 ms™. Then the maximum height reached by the
stone 1s

(2= 10 ms™).

28 T°OQ 25703 0B A& AT DE DNBTE. & a0 3 K02 ) & 0 eHFd
D08 T SA 10 ms” e, & Traw 27 oD THEHe KIS

(g=10ms?)

Options :

28393616969, ¥ > M

28393616970, ¢ 10 m

28393616971, % 15 m

28393616972, % 20 m
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A body is projected with a velocity V such that its range on the horizontal plane is twice the

greatest height attained by it. The range of the projectile is

(‘g’ is acceleration due to gravity)

28 S0 TR §88 NIrods i, ©8 FodS (0 % Bosy @ddhi Ador V
Mo D8N0 THardy. eond & 1N N80 g T4

(‘g’ e s e s0eaem)

Options:



4V?
28393616973, ¢ 8

4g

28393616974, # SV~°

b

o3

28393616975. #

4v°

28393616976, # \EE
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The temperature of two bodies measured by a thermometer are f =(20 +0.4)°C and

t, =(50+ 0.6)°C. The temperature difference of these readings and error therein is
B0ch S0 SISO 28 Ga SF50D &ARPA0Y FONTH. @) 1, =(20 +0.4)°C
00 £, = (504 0.6)°C. 0N & afifide P Badnd

Options :
28393616977, * (30£0.2)°C
28393616978, ¥ (30+1)°C

28393616979, # (70+£0.2)°C

28393616980, ® (70£1)°C
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A block of mass 2 kg rests on a rough inclined plane making an angle 30° with the horizontal,
If the coefficient of static friction between the block and the plane is 0.7, then the frictional

force on the block 1s

(gzl{)ms':)

30° aren Fea0 S0 2.8 nded EORS ren heean 2 2 kg (Ba35T77 E0 2.8 Se0a) &ed) B, &
50050 er8 s s0den a8 0.7 9000 & S5elsY) 2 R T 1Y 2N
(g=10ms?)

Options :

28393616981, ¢ 10N

28393616982, % 10V3N

28393616983. # / \/3 N

28393616984, % /0 N
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A bullet emerges out from a stationary wooden plank with 75% of its initial kinetic energy.

The number of additional planks required to stop the bullet is

2.8 0278 0 VBT &) TE), HOE T ior s SO e 3868 75% ride 58"
20968 SOINE. & SarS HOMW & BIFVE THONS BASH) DeOde How;

Options :

28393616985, ¥ 2

28393616986, ¢ 3

28393616987, % 4

28393616988, ¥
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A body of mass 50 g collides elastically with another body of mass 30 g at rest. The

percentage loss of velocity of the colliding body during the collision is

50 g 3550°% B0 SX0s) DTedy VB 5e9) 30 g (O50°3 80 DHTE Sy & VAT0E
@dArso 20096, & ©DIrsoS ©dirdo 2808 S0 Sto S SaFso

Options :
28393616989, # 25

28393616990, % 0

28393616991, ¢ 79



28393616992, % 07.5
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Two bodies of masses 4 kg and 6 kg at rest are separated by a distance of 20 m. If they move

towards each other under mutual force of attraction, the position of the point where they meet is

20 BS &) 4 kg B0 6 kg (B35 THexn Ko Boch Syen 20 m ErdSns
THRAS. 76 s 68 7o SO 2.8 7 3 2568 SOV, © OV TS5
Options :

12 m from 4 kg body
£8393616993. ¢ 4 kg 90:)00& 12 m &rdsnd”

12 m from 6 kg body
28393616994, % 0 kg 980 00& 12 m &rdSns’

8 m from 4 kg body
58393616995, # 4 kg S0HH0A 8 m Srdsne’

10 m from 4 kg body
58393616996 % 4 Kg S0)008 10 m Srdsnes’
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When a solid sphere rolls without slipping on a rough horizontal surface the ratio of its

translational kinetic energy to its total kinetic energy is

2.8 0N § 82 NSrodd dersdn D rBRomE SRR GO, R Yoy ffedz 488,
o IS0 Az 388 s A

Options :

3| W

28393616997. ¥

~ |2

28393616998. #

|~

28393616999. #

b | =2

28393617000. #
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A satellite is revolving around the earth with a kinetic energy E. If the satellite is revolving
near the surface of the earth, then the minimum additional kinetic energy needed to make

it escape from its orbit is

28 GIHET0 Brd ey f8zds E & S08Nohde 6. eiiiro Srandderal
SHET HOBNND), @6 882 0D HEFENN0 TOSEIE IOV @) 5D Kedesd§

Options:

28393617001, * 2E



28393617002. # \E

E
28393617003, ¥ 2

28393617004, ¢ E
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Two bars A and B of circular cross-section and of same volume are made of the same
material. If the diameter of A is half that of B and if the force applied to both the rods is
the same and it 1s within the elastic limit, the ratio of extension of A to that of B will be
S9TTE HBBIG0 H0B 28 SH0SrR0 H) Bodh {Gden A o B en 2F
Hrgod Tah agron. A GnE), T B a8 Hfan eond 00k Bodk §Go
D HTFAOSAS 200 HTH0 @D DB FHE @IS HoB A B B arihdee
e

Options :
28393617005. ¢ 10
28393617006, ¥ O

28393617007, * 4

28393617008, ¥ 2
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Two capillary tubes of radii 0.2 cm and 0.4 cm are dipped vertically in the same liquid.
The ratio of the heights through which the liquid will rise in the tubes 1s

F5rgren 0.2 cm 005w 0.4 cm e B0 TardEed 28 (950 & AeIT o,
TESNE |28 1370 WO A

Options :

28393617009, % 2:3

28393617010, * 1:4

28393617011, ¢ 2:1

28393617012, % 4:1
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Two rain drops of same radii *#*, falling with terminal velocity ‘v’ merge and form a

bigger drop of radius ‘R’. The terminal velocity of the bigger drop is

2.3 TG0 ' 0B BBHIMSN V' & D) Bock 85 Dotyen DR FRrdo
'R’ 5309) 8 DOLIY™ 8 )T00. DG D0 tHGad Btiedn
Options :

R

V—
28393617013. # r



R_‘
Vg
28393617014. v I

28393617015. # V

28393617016, % 2V
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A silver rod of length 1 m at 0 °C is heated to 100 °C. It’s length 1s increased by 0.19 cm.

Coefficient of cubical expansion of silver 1s

sy 1 m e 28 306 80 0 °C 0 100 °C % 38 Tvd. o ¢ 0.19 cm
208008, 308 G¥) NSDOSreaT 8 S Heago

Options :

28393617017, ¢ 3.7%107/°C

28393617018, # 0.63x107/°C

28393617019, % 1.9%107/°C

28393617020, * 16.1x107°/°C
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[f 80 g of steam at 100 °C is sent in to 540 g of ice at 0 °C, resultant temperature of

the mixture 1s about

100 °C 5¢ Ke> 80 g s8R 0°C ¢ fie> 540 g 5085 €8 50D FH0
TBE, HOS GeF|HS Srdom

Options :

28393617021, v 12.9 °C
28393617022, ¥ 26 °C
28393617023, % 92 °C

28393617024, ® 39 °C
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: o L 8 .. ...
An ideal gas at 27 °C is compressed adiabatically to Tof its imitial volume.

'

5 5 g :
If ,vzg,then the rise in temperature is
27 °C © S8 H&) o8 8d8)rangd Fafor @ & HRH8Sraos %5@
H02%X0 ToAoT. y:% a3 &S 0

Options :

28393617025, * 450K



28393617026. ¢ 375 K
28393617027, % 225K

28393617028. * 405 K
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The molar specific heats of an ideal gas at constant pressure and constant volume are

C
denoted by Cﬂ and C respectively. If y = # and R 1s the universal gas constant, then

)
"

C 18

VOGBS0 DB NG NSNS0 IO 28 8B8) ol Mg, Irerd
C

DIgFAmen Stdm C,oan C,. }'=C—f'- B0k R 858 rofn poro¥o

@8, C,
Options :

{(r—1]
28393617029. # R

28393617030, * YR

(1+y)
28393617031, # (1=7)

R
28393617032, ¢ (¥ —1)
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An engine standing at the platform blows a whistle of frequency 305 Hz. If the velocity

of sound be 1220 kmh™!, the frequency of the whistle as heard by a man running towards

the engine with a speed of 20 kmh™ is

6 B0 S AORA ) 28 2020 305 Hz sy dsend S0R008. $2) 6
1220 kmh™' 90n@ @02 39 20 kmh! IAE HEOTS S0)D0ANE DANOT &
05000 Sl
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28393617033, % 300 Hz

28393617034, ¥ 305 Hz

28393617035, v 210 Hz

28393617036, ¥ 325 Hz
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The fundamental frequency of open organ pipe is equal to the third harmonic of a closed

organ pipe. If the length of the closed organ pipe is 21 cm, the length of the open organ
pipe is

BODIN) OTR O BNE) (PGS )il FRIN) 8T Q0 D3wE)
) @) T8 DATN0. TRIN) ST FRO &rthay 21 cm @ond 88DHN)
ST 0 &rched

Options :

28393617037, ¢ 14 cm

28393617038, % 8 cm

28393617039, ® 12.3 cm

28393617040, ¥ 16 cm
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An object is placed at a distance of 30 cm in front of a concave mirror of radius of curvature

20 cm. The magnification produced by the mirror is
20cm HE= aﬂéﬁpgo o a8 Jered Shmo Jmtmr 30 cm ErBost a8 S somh.

83630 Send TS @aﬁgéo

Options :

28393617041, % 2

28393617042. ¥



b | =

28393617043, # 3

|
28393617044, % 3
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In Young's double slit experiment, the distance between the two slits is 0.6 mm and the

screen is placed at a distance of 125 cm from the plane of the slits. If the wavelength of
the light used is 6000 A, the phase difference between the interfering waves at a point

2.5 mm on the screen from the central bright fringe is
dhofi a0ty DO [HArKos’, HDEe Hoierdo 0.6 mm DB B8H, H08e S8 Kty
&m0 125 cm. a5EFNoSRaS s08 88013E s0 6000 A eand So Sewrb $8 08

8568 2.5 mm Ex80é® Ko HohHid D B0 Both Sdorre Bl BeEE0

Options :

28393617045, ¥ 47

T
28393617046. % 4

28393617047, % 5T

I
28393617048, ¥ 5
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The electrostatic force between two point charges kept with a separation in air is

6.3x10- N. If half of the space between the charges 1s filled with a dielectric of

dielectric constant 4, the electrostatic force between the two charges 1s

mOS° Fol tirtos” 3 Jahadi Both Dot edee gy HY kxs weo 6.3x107 N.
saTo e Sifo HITY 6% Joroko 4 Ko a8 54808" JodHD, Both edew DL
25 ik @wo.

Options :

28393617049. ¥ 6.3x10° N

28393617050, ¢ 2.8%10° N

28393617051, # 4.2x]10° N

28393617052, ¥ 3.6%10° N
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Three capacitors of capacitances 1 pF, 2 uF and 3 pF are connected to a battery of
negligible internal resistance as shown in the figure. The ratio of the charges on 2 pF
and 3 puF capacitors 1s

Stod® S8 dgore 1 uF, 2 pF H8cw 3 pF 3085w Ko s Sddegs
DPoBEAR wosB)E o BOAK a8 erstads® K0, 2 PF Hbain 3 PF Srhes?

Ko g3 358

1 uF
A JuF
[l
L,

2uF

Options :

28393617053. # 1:1

28393617054, % 1:2

28393617055, ¢ 2:3

28393617056, % 1:4
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The ratio of the radii of two conducting wires P and Q made of same material is 2:3. If
the drift velocities of electrons in P and Q is 3:1 and the electric current through the

conductor P 1s 6 A, then the electric current through the conductor Q 1s

28 Sorgod® abaldi Both ¥ Ber Pbut> Q @ng) oo 98 2:3. Pibidam Q
o6® (85 Jrro DB 3:1 SO ir¥o P oo Aiyd (Bariro 6 A sond airEo Q oee
Qigd (Pawio

Options :

28393617057, % 2.5 A

28393617058, ¥ 3 A

28393617059, ¥ 5 A

28393617060. ¢ 4.5 A
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When a resistance X € 1s connected in the left gap and a resistance of 45 Q in the right
gap of a meter bridge, the balancing length is [. If X Q) is shunted with 2X Q and to get the

same balancing length [, The resistance to be placed in the right gap of the meter bridge is

(Balancing length is measured from left end of the bridge wire)

28 X (B 2 578 Poos® X Q 26%0%, Kb gob goos® 45 Q Ao 80
Soded 6 1. X Q ) 2X Q 308 5085 Sh8r oF Sodwd S5 Fowreod

66 8 gpifos® doSSeds Ao, (oo PEDHD e 8 A& D56 Sob BDT)



Options :

28393617061, % 15 Q
28393617062, ¢ 30 Q
28393617063. ¥ 45 Q2

28393617064, % 60
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Two circular conducting thin rings of each radius 4 cm are placed such that their planes are

perpendicular and their centers coincide. If the current through the rings are EA and
T

2 : .
Z A, then the resultant magnetic field at the common centre of the rings is
T

2558 4 cm aERgo Mo Both St TS Sodwmer P S vonorr &8 Soito SOA
Q )

2
6013 oD aida). Solmre e Alyd (Sarden EA S0 ZA wond Sofwe

T T
& Sofo 38 20 wabimos g#o

Options:

28393617065, # 5x10°T
28393617066. ¥ 3.75x10° T

28393617067, ® 2.5x10° T



28393617068, ¢ 1.25%10° T
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Two parallel long straight wires carry currents 10 A and I (>10 A). If the currents in the

wires are in the same direction, the magnetic field at a point equidistant between the
conductors is 10°T. If the currents in the wires are in the opposite directions, the magnetic

field at a point equidistant between the conductors 15 3%10- T. The value of 1 1s

Both Herodt PEID SR &en 10 A 5805 1(>10 A) Aiixd Darifes EOA aTmon.
8Ko® D8 (amien 8 BIE° ey Both e i Bfe Kok Sibtirtod® Ko
Dot 58 D58 Fo 107 T . Sied® Deiogh wariShen %888 s’ aipto Botd &Ko
sotfs 8o ol HotseS08 e Bothih 5§ D Fo 3x10° T wows [ Densd

Options:

28393617069. ¥ 20 A

28393617070. # 15 A

28393617071. % 5 A

28393617072. ¥ 12 A
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The susceptibility of a paramagnetic substance at a temperature 27°C is 2x10-. The

substance 1s cooled so that its susceptibility becomes 3%109, The change in the

temperature of the substance is
27°C &858 56 o8 Foredhiod Smh $3R008 2x107 5o 1525908 3x107
Do Soreed) dppdmth. Sogh afKEe’ Srty

Options :

28393617073, ¢ 100°C
28393617074, % 200°C
28393617075, # —173°C

28393617076. ¥ 200 K
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A current of 5 mA is passed through a coil of 150 turns and self-inductance 30 mH. The

magnetic flux through the cross section of the coil is

150 e HBckn 30 MH Ko (60 o 2.8 81 Hiy Te 5 MA DS (58roid
SR éﬁiﬁ]éég 5’33@33&50 Toe 8aDF08 efariro
Options :

28393617077, % 2x10° Wb



28393617078. # 105 Wb

28393617079. # 2x10° Wb

28393617080. ¥ 10 Wb
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The figure shows a part of a circuit. At any time, the current in the circuit is 5 A and it is
decreasing at a rate of 10* As’l. Then potential difference between A and B is
2.8 Soanod grmR) S0 ErStHNh. O P & Tor Sodhod® AyS (Hpro

5 A H0cin ob 103 AsT Fi5ps £8e 406, and A, B o i 8006 s

Options :

28393617081, % 3V

28393617082, ® 10V

28393617083, ¢ 15V

28393617084, % 20V
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l
In LCR series circuit, the current amplitude becomes ﬁ times its maximum value at

frequencies 212 rad s™' and 232 rad s™'. If the value of R in the circuit is § Q, then the

value of L 1s

2% LCR @8 Sodkos® 212 rad s sobafo 232 rad 5™ redsdime $¢ Sodb diigS

—

|
arse B0 H08 KoY Smééﬁ Beyp a)0. Sodhos® R Dends 5Q wanis L Deodd
Options :

28393617085, ¥ 20 mH
28393617086, v 250 mH
28393617087, * 10 mH

28393617088, ¥ 5 mH

Question Number : 113 Question Id : 2839364273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The speed of electromagnetic waves in a medium of relative permeability 2.3 and relative

permittivity 1.3 is

5?'3}5“ ﬁ@é{ﬁaﬁ}@éﬁ 2.3 $6c5 %Dﬂ}é%}@é&&)éﬁ 1.3 Ko 2 ofrdost &)d}éécﬁaﬁv&oé
stomre 56

Options :

28393617089, # 13.63x10" ms

28393617090, * 1.83x10" ms~

I

28393617091, * 3.63 x 10" ms

|

28393617092, ¢ 1.73x 10" ms~
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The potential energy of a particle of mass ‘m’ varies with its position 'x' as

[Ey: 0<x<1

U(x)=l B ol ? The de-Broglie wavelengths of the particle when 0<x<1 and

x>1 are A, and A,respectively. If the total energy of the particle is2E, then the value

A
of[i] 18
E,; 0<x<1

(Bef5oe8 ‘m’ Mo o8 & Hae &, o X' daf U(x)= — P& 8.

8550 0< x<1:500% x > 1Fwes® & (2l 88orBos gen S Ay HOD Ay & w0

ando 48 2E, wond (%J e

"
s

Options :

28393617093, % 2

28393617094, % 1

28393617095. ¥ \/E
I
28393617096. # V'E
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The ratio of angular momentum of an electron in two orbits of the hydrogen atom is 1:3.

The ratio of the energies of the electron in these orbits is

RS HESTENYS R Bod 85208 2.8 JoTd Fedoh (3553 A 1:3. eowdd
& 8506 do|TD 50 28

g

Options:

28393617097, ¥ 81:1
28393617098, ¥ 27:1
28393617099, ¢ 2:1

28393617100, % 31

Question Number : 116 Question Id : 2839364276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
For a radioactive substance, the average life for ! - emission is 1620 years and for

P - emission it is 405 years. The time after which %th of the material remains after

0. and P - emission simultaneously in years is

2.8 BEGrGregs ol 0L - 6rpd Hiien €8 srwo 1620 Sosdyoren B0t P - ampd Srien

t 1
£08 w0 405 Sosdten. & oo (- HBa P - 6UP0°0 B0%8 Srgo 2 3 Soi
DB Dt ey SodEEed
Options :

1500 years

28393617101, % 1900 HodgTren



300 Years

28393617102, * 00 SosEoren

449 years
28393617103, v 49 dosgjoren

810 years
28393617104, % 510 S0 oren

Question Number : 117 Question Id : 2839364277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the mass defect in nuclear fission is considered as 0.1 % of the original mass, then

the energy released when 1 kg of ,,U** undergoes fission is

o8 20)86° s o Ando st 0.1 % m 96riBods 1 kg , U™

D8 FobIHD Jenstd €8
Options :
10
28393617105, % 9*1077J
11
28393617106, % 9*10°"J

12
28393617107, * 2*10°7J

13
28393617108, ¢ 2*10°7 ]



Question Number : 118 Question Id : 2839364278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the devices in Column I with their symbols in Column 11
o | € 108ored ol 1l 650 95508° addthsn

Column | Column II
[)  NPN transistor A) A~

NPN (=55 L/
[T)  PNP transistor B)

PNP &»Q6

[1I) Light emitting diode C) -

08 a8 ETrE - %4
IV Zener diode B A T
290 EBrE R
Options :

28393617109, * 1-C, 11-D, Il - A, IV - B

28393617110, % 1-D, I1-C, Il - B, IV - A

28393617111, ¢ 1 -G, II-D, IlI - B, IV - A

28393617112, % 1-D, 11 -C, IlI - A, IV-B
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A graph drawn between output voltage (V) and input voltage (Vi) of a transistor in CE
configuration is shown in the figure. If the transistor were to be used as a switch it

should be operated in

CE Qam06° 2.8 (PRt @n¥) M8 588 (Vo) Sbdin 3¢ S°g& (Vi) dotfg A

(™% 800 B006° Srombsn. & EPRHER o TP EsBsH) 809

Vo \

Options :

in region 11
18393617113, % Erodo Il & ed@rAoSSSH

in region |
28393617114, % @ro8o 1 & a8@rhosEBH

in region III
28393617115, % @roo III S BRDPAOBHBHD

in regions I and 111
28393617116,  [@Fogren 1 $bcin 11l o6® ad@rhoSst
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A TV transmission tower has a height ‘h’. The maximum distance up to which the

signals can be received from it is proportional to

28 TV 335 3930 @) 2 h'oons & &5 H08 HS % MgbosHon Koy trssm

B8 ebsbird FSos® dood
Options :

/2
28393617117. ¢

28393617118, % I

372
28393617119, % h

-

28393617120, % N~
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The radius of third orbit of Li*" ion is x nm. The radius of fourth orbit of He  ion (in nm) is

L eoci T8y Surcsss K8 s o x nm. He' o0irS & s €8s argrdo (m o)

Options :

o0 | L

28393617121. %

8
__'!"
28393617122. ¢ 3

5
—X
28393617123. ¥ 3

oW

28393617124. %
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An electron is moving with a kinetic energy of 4.55x10™J. Tts de-Broglie wavelength (in nm) is
(m,=9.1x10"kg. h =6.63x10%Is)

24 015 455x107 T o 8§ & 5010, o S s8oiiBdso (um o)
(m,=9.1x10"kg, h =6.63x10™Js)

Options:



28393617125, % 628.5

28393617126. ¥ 128.5

28393617127, % 712.85

28393617128, % 1285
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[n which of the following, the order of elements and periodic property is not correctly matched?

8ob 66° Badboth Hirese [§50 HOH G5 (G0 H6rY aEBBLED?
Options :

F>Cl>0O>N Electronegativity

28393617129, ¢ oz DTS ES

Cl>F>Br>1 Electron gain enthalpy

28393617130, # oS [y doged)

Al>Be>B>C Atomic radius

28393617131, * DB TGO

F>N>0>C First ionisation enthalpy
28393617132, % BES OBOZBEAS 07O
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Correct order of dipole moment of the following compounds 1s

1BOS S0 ¥ &S0 127057 ABNEY DB (Zeo

H,0, HF, NH,, BF,

Options :

28393617133, # HF <BF,<NH,<H,0

28393617134, ¥ BFi<NH;<H,0 <HF

28393617135, v BF,<NH,<HF <H,0

28393617136, * NH,;<H,0 <HF < BF,
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Which of the following is the correct order of bond lengths?

208 &80 50 H0220H0D 1808 TS DA HBS 15007

Options :

- +
28393617137. ¢ 02 > 0z > 0,

~ +
28393617138, % 02 > 02 > 03



X _
28393617139, % 02 > 027 > 0,

X _
28393617140, * 027 >0z > 0,
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Under similar conditions x cm® of CHs and y cm® of SO; gases are diffused through a

porous membrane in 15 and 10 minutes respectively. Then the ratio of x to y is

x cm’ CHs 3056y 15 Q1aree 2.8 DS e 0od T:3hd0 Todod. of
H8ehS y em? S0; araing 10 QTS 550 ToBOA. x, y ©F He> A )e

Options :
28393617141, ¢ 3:1
28393617142, % 1:3

28393617143, % 2:3

28393617144, % 312
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In balancing of the reaction given below, the coefficients of Cr,02", NO; and H"
respectively are

180 35528 850 Siergo Tabr ST SDEBLoS’ Cr,02", NO; SHdckw H'
© (DESEN ST
Cr,0; +NO;+H" = Cr’"" + NO;

Options :

28393617145, v 1, 3, 8

28393617146, % 1.4, 8

28393617147, % 1,3, 12

28393617148, % 1, 5, 12
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[dentify the incorrect statement about the compounds of alkaline earth metals from the

following
58 g% S'F D 1FTO% H02080D 1808 TS DO 55 HA0TD
Options :

BeSO4 and MgSQy are readily soluble in water
58393617149, % BeSO4 OO MgS04 &0 e’ e e o

Except beryllium halides, halides of other alkaline earth metals are ionic in nature
BEOCH SFBE e DSFon0D), WADS T°E yBE S'oF FSE e @ArdS
28393617150, * VSTV $ON Goeraw



Solubility of carbonates in water increases from BeCO3; to BaCO3

58393617151, v BeCO3 006 BaCO;3 % A3S (rdedched 2&Mheod

Nitrates of all alkaline earth metals decompose on heating
28393617152, % S0 geds S DB 01 SA TSI Do Todveron
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At I bar pressure and 373K, the enthalpy change for the vapourisation of 1 mol of water

is 41 kJ mol”". The change in internal energy for the same change under the same
conditions (in kJ mol™) is

(R =8.3JK'mol”, Assume water vapour as an ideal gas)

580 1 bar, 373K $&, 1 IS 3 270118600810 6N 05Oy S

41 kJ mol” @00 o8 H8RSeS oF 7% 0804 48 Sr) (kI mol! o)
R =8.3JK"'mol", ¢3 DB 3¢5 aroi0sis SanSeien)

Options :

28393617153, % -37.9

28393617154, ® 3.1

28393617155, ¢ T37.9

28393617156, ® T379
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At 25 °C the K, values of Ni(OH), and Cd(OH); are 2.0x107" and 2.5x107*
respectively. If S; and S; are respectively their molar solubilities, then the ratio of
Sito Sy 1s

25 °C ¢ Ni(OH),, Cd(OH) & Kgp Densden S8 2.0x1071 sodatn 2.5x107.
S1, S2 0 SHOT ¢S FrerD (TSoheden eond Si, S © DS

Options :

28393617157, % 3:8

28393617158, % 4:3

28393617159, % 25:2

28393617160, ¢ 2:25
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A carbide of metal ‘M’ with D-O gives C,D; and carbide of metal ‘N with D,O
gives CDg. M and N respectively are

M’ @ 570 Ghog), 5°8)5 D20 & C2D: & 3008, ‘N’ @ S0 Bwg),
58)8 D20 & CDs & 2008, M, N e SSdm

Options :

28393617161, * Ca, Zn



28393617162, ¥ Al, Ca

28393617163, * Zn, Ca

28393617164, ¥ Ca, Al
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Match the following

List-1 (Alkali metal)
A) Lithium (L1)
B) Sodium (Na)
C) Potassium (K)
D) Caesium (Cs)

The correct answer 1s

1808 73R 23650 Badw
2D - 1 (85 5°0)

A) O&H0 (Li)

B) &¥&oho (Na)

C) &rero%0 (K)

D) 2RaHo (Cs)

0 B0 ATTI R

Options :

28393617165, * A— 11, B

28393617166, * A— 11, B

IV, C

Vv, C

List -II(Flame colour)
I Blue

[1 Violet

III' Crimson red

IV Yellow

V' Apple green

rdee - 11 (230 S580)
[ Qo
[l ercdoih
[II Soeay S0
IV 509
V eaS H13)

L, D —1I

[, D-II



28393617167. ¢v A—IILB—-1V,C—1I1,D -1

28393617168, # A—-IV,B-1I[,C-1,D -V
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Arrange the oxides Ga;03, B203, In;03 and Al;O; in the correct order of their acidic

nature
Gax0s, B20s, [0, AL O3 ©& 363 e3aD) $ g2rae) DTS (55006 @68 650

Options :

28393617169, # Ga:C'.‘ = IHFOF - B:OI - ﬁl\(_‘}]

28393617170, % AIJO} - B:D; e GH:D_; = IHJOL

28393617171, ¢ B20; > AlL,O; >Ga 0, > In,0,

28393617172, * 1m0, > Ga,0, > Al,0, > B,0,
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In which of the following, the order of elements against the property mentioned 1s not
correctly matched?

808 ¢3S BAGHOK SIFOS'e) 500 TR IEEMT AFDODS G108 HOTP 23¢8
BohAGe?

Options :
C>Si>Ge>Pb>Sn - Ionisation enthalpy
28393617173, % ©TOTZAS o)
C>Si>Ge>Sn>Pb - Melting point
28393617174, ¢ TREARINE-Ev e[l
C<Si<Ge<Sn<Pb - Covalent radius
28393617175, % FIB0E asrgo
Si>Ge>Sn>Pb - Boiling point
28393617176, % 21255 gk iies
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The IUPAC name of following compound is

Bod HF¥o G@wE) IUPAC %

(CH,),C — CH,-C(CH,),
Options :

1,1, 1, 3, 3, 3 - Hexamethyl propane
18393617177, % 1 1, 1, 3,3, 3 - 35008 S 1800

28393617178. #



I, 3-dilsopropyl propane
1, 3-3 o &S |F D

Nonane
28393617179, ¥ < o0

2, 2,4, 4 - Tetramethylpentane
28393617180, ¢ 21 2, 4, 4-BE5 DFS oS
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Identify the product (P) in the reaction

dil KMnO,

MK

CH,-CH=CH, +H,0+(0) y P

&3 15855 5530930 (P) & HB0t0Eaw
Options :

Propane — 1, 3 — diol
78393617181, % ¥R — 1,3 — &S

Propane — 1, 2 — diol
28393617182, v WFRS — 1,2 — &8s

Propane — 2 — one
28393617183, % &FoI® —2 —&d

Propanal

28393617184, % &FOTS
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Arrange the following in the correct order of their boiling points

1808 73R ¢3 23 )BT DETDS (ZN0S’ 95981360

Neopentane  Pentane  Isopentane Isobutane

| Il 11 IV
ABTFDOVI0 DO DIFDOVR DFATIBIQ

Options :

28393617185, ¢ IV <1 <IlI <1l

28393617186, # | <HI<II <1V

28393617187, # IV <I<II<III

28393617188, # I <IV <INl <1

Question Number : 138 Question Id : 2839364298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The correct order of reactivity of the following compounds towards electrophilic
substitution reaction 1is
DOLFNOE AT D60 9GS HE S 1808 S ET DTS T3 |E00
1) Aniline
SOS

1) Benzene
FAJeTAT

i)  Nitrobenzene

S BoES

Options :

28393617189, ® 11> 1ii >1i

28393617190, ¢ 1= 1i > iii

28393617191, % 11> 1> 1ii

28393617192, % 1ii>1i>1i
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[dentify the primitive unit cell of the crystal system for which @ # b # cand

a#f#y#90° (a,b,care edge lengths and «, A, andy are axial angles)

azb#cH00m a# f#y#I°oSES) )88 35595 ToAS (P 0TS
S & HB0tan (a, b, ¢ €0 @Ok &rdyen HO a, f, ¥ v ©fah Seren)
Options :

Monoclinic
28393617193, % 2SS



Cubic
28393617194, ¥ @O0

Triclinic
28393617195, ¢ S E

Tetragonal
28393617196, % LIS EIAD
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At 27°C, the osmotic pressure of 0.5 M solution of sucrose (in bar) 1s
(R =0.083 L bar mol! K'!)

27°C 3 0.5M (825 1579690 |97 Ee D260 (bar &)

(R = 0.083 L bar mol' K

Options :
28393617197, v 12.45
28393617198, % 24.90

28393617199, ¥ 84.03

28393617200, % 1-61
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For the cell reaction Zn(s) + Ni'l(aq) —7n” (aq) +Ni(s), E;,, =0.51V . Standard Gibbs

energy change is (1F = 96500 C mol!)

Zn (30) + Nit* (me)) —»Zn®" (o) + Ni (), E°

Call

=0.51V. 50 583550 (e A )
38 ) (1F = 96500 C mol™)

Options :

28393617201, % -24.60 kJ mol’

28393617202, % -19.29 kJ mol™!

28393617203, * -49.20 kJ mol™!

28393617204, v -98:43 k] mol’!
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A plot of Iug%versus time for a first order reaction is shown below. Which of the

following option is correct for the plot?

1D (§Sr08 BEs% log% 8 5700 8 655 A Bar H80 (806 O™ §&)1H.

1808 0TS & B HErAE H0D0HOD HBIO HO?

/
/
i b
E|E 74
@ /
74
0
time ——»
Options :
slope = -k

28393617205, ¥ "€ = -k

slope =

2.303
k

e = ———
28393617206. ¥ 2.303

slope = k
28393617207, # "€V =k

0.693
slope = ——
0.693
e = —
28393617208, # k
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Which of the following observations are correct about adsorption from solution phase?
A) The extent of adsorption increases with an increase in temperature
B) The extent of adsorption increases with an increase of surface area of the adsorbent
() The extent of adsorption depends on the amount of the solute in solution

D) The extent of adsorption depends on the nature of the adsorbent and the adsorbate

(560 [P 08 ©BTNE (HEAHE N020H0D (808 TES BN BTSN N7
A) &Y 1156 DOHAOS ©9OT 80 IS DEHH0H
B) @030 0080 ZTe50 DOMEY, @HFae IS Srae S0
C) 9AF26 DS (590 SR (TS0 HOSTH0 D BEFEHG G0ENOO
D) 80506 DR ©AT N0, 9OHT AT N 52rH0 D B8TEHG G0oN0d

Options:

28393617209, * A, B, C only

28393617210, * A, C, D only

28393617211, * A, B, D only

28393617212, v B, C, D only

Question Number : 144 Question Id : 2839364304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following method 1s used for the removal of oxygen and nitrogen impurities
present in Zrand Ti ?

808 73S 2 HPBA GHXBEA0D Zr HOAN Ti ©S'R 88127, FE2R HOTOH
SOAPE?

Options:

Monds Method
28393617213, % STO& HPS

van-ArKel Method
28393617214, ¥ T 80S HQES

Froth floatation method
28393617215, % 209 (5AD HPS

Magnetic separation method
28393617216, % @ODL0S J0° )0 HYS
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Choose the correct statements from the following

[) The oxidation state of phosphorous in hypophosphoric acid is +4
[I) P-H bonds are present in orthophosphoric acid and pyrophosphoric acid

[1I) Metaphosphoric acid exists in polymeric form only

808 TS DBS 55O d)Fod
) 3rFarar)08 @0 a0 )80 &8 ¥ & +4
1) & 3rar)68 esho, R Far)08 sabo o P-H 2057w oeran
[T) Doer e85 00, 287 se8 (polymeric) 8rnoS ® &0EN0d

Options :



28393617217, v 1 & ll only

28393617218, * 11 & Il only

28393617219, * 1 & Il only

28393617220, % 1, 11 & 111
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Which of the following oxoacids contains a peroxo bond in between two sulphur atoms?

1808 85y 8T TS’ 0610 N8P0 s DOE ) 2050 &0LnodH?
Options :

28393617221, % H, 8,0,

28393617222, # H2S, O

28393617223, % H, S, 0,

28393617224, ¢ H2 S, O
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Correct Marks : 1 Wrong Marks : 0

Which of the following inert gas is used in diving apparatus used by Scuba divers to
avoid bends and toxic effect of high concentration of nitrogen?

BoB) 0B DO FEBS O meses SO DT Teh (Derare) HoA SBOSS
800 2¢ FONHOS BA SRS ST 8 HB50°0S GHTFATE ?
Options:

Helium
28393617225, ¢ ar&0OHO

Neon
28393617226. % QO™

Argon
28393617227, % BTV

Krypton
28393617228, # 5™
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In which of the following, hybridisation of central atoms and shapes about BrF3, BrFs
are correctly matched

1808 7S BAHOK BrFs, BrFs &% 5020800 30(¢ H8Srede S0 §éeren,
Zronelen (e8yehen) DO 8¢ ToHFON

Options :

BrFs : sp?, Trigonal planar (&8 Heoeher)
»8393617229. * BIFs : sp’d®, Square pyramid (58|10 drerssso)



BrF; : sp?, Trigonal planar (|88 Soebed)

28393617230, # BIFs: s.p}d, Trigonal bipyramidal [@'?9@-8550‘_'0 & LT TIESS0)

BrF; : sp’d, Bent-T shape (50885-T ess*&0)
28393617231, ¢ BIFs : sp'ﬂ‘d:, Square pyramid (e8| Arir§std0)

BrFs : sp’d, Bent-T shape (50A&-T ess°30)
28393617232, * BIFs : sp’d, Trigonal bipyramidal (88305 & s e755°50)
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Assertion (A): [Co(NH3 )6]? is an inner orbital complex

Reason (R):  NHj is strong ligand and produces strong field causing greater splitting
of 'd’ orbifals 1.e., A, > P. (Where A, 1s magnitude of crystal field

splitting & P 1s pairing energy)

Q73650 (A) : [Co(NH3 )6]3* 2.5 @060 &8)erS Hodn0

080 (R) 1 NHz 2038 808 5300 SO 20500 3 |@) SenliEZd ‘d’ e )trd;
D250 DO, BOH Ay > P. (R0 A6 9638 3 (¢

225283 DBSTEI0 DO P 936 25rdmas son 48)

The correct option among the following is
& 1208 0TS NSO

Options :

(A) and (R) are true. (R) is the correct explanation of (A)
28393617233, ¢ [A] 08 (R\} E..l:g:;:l {;‘!\) CTDJ%EF ;}5@4'6 M Pale]s {R}

(A) and (R) are true, but (R) is not correct explanation of (A)
28393617234, % (A) DOAW (R) 2,0)), 5% (A) CE) QOS DHGed (R) 5°¢0



(A) 1s true but (R) 1s false
28393617235, * (A) 2:59) 5% (R) &)

(A) is false but (R) is true
28393617236, * (A) $3) 5 (R) 2,00
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The alloy which consists of Lanthanoid metal (~ 95%), iron (~ 5%) and traces

of S, C, Caand Al 1s

erodFh S'aro (~ 95%), 20u0 (~ 5%) & e S S, C, Ca, Al e &)
IS0

Options :

Stainless steel
= 5
28393617237, ¥ ROWA SR RO

Misch metal
28393617238, ¢ DA 70

German silver
o
28393617239, ¥ 820 D55

Bell metal
28393617240, ¥ 2O &S
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Which of the following is a biodegradable polymer?

808 TB3S” DO ES §arsys >OE?

Options :

Bakelite
28393617241, % BEOE

28393617242, % PVC

Nylon 2-nylon 6
28393617243, ¥ DU 2-T°S 6

Buna-S

28393617244, % 2055
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Match the following
List — I (Vitamin)
A) Thiamine
B) Riboflavin

C) Ascorbic acid
D) Vitamin D

The correct answer 158

1808 T7¢3Q) 23650t

e -1 (DODN)
A) GO
B) BS'D"NS
C) &37),6)5 &0
D) D&HWS D

5B DTS

Options:

28393617245, ¥ A—1V, B

List-11 (Deficiency disease)
I Scurvy
I Xerophthalmia
[II Cheilosis
IV Beri Beri
V Rickets

2De -1l (STH0 $© T°58)
1 5365
11 385008
I 85°25
IV 2386 236
vV 838)

NLC-V,D-1I

28393617246, * A=NILLB-IV,C-1,D-V

28393617247. v A—-1V,B-IILC-1,D-V

28393617248, %« A—LB-IIILC-II,D-IV

Question Number : 153 Question Id : 2839364313 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Which one of the following in diluted aqueous solution is used as a weak antiseptic for eyes?

808 T8’ O OS2 (TH06 $0638 D 2LeFS AirotS VN I 5 BYod?

Options:



Boric acid
28393617249, v 305 &0

Bithionol
28393617250, % DBCHS S

Tincture of iodine
28393617251, % @TES 30820

Novestrol
28393617252, % © S &F'S
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Which of the following statements are not correct about the Sy2 reaction?

[) It proceeds with complete inversion of configuration

IT) It is a first order reaction

[IT) It involves the formation of intermediate
IV) Tertiary alkyl halides are least reactive towards this reaction

808 32506 SN2 5855 N0220H00) A NOSAN?

D 2050 S osS 28k

) 28 ef DEESros $6s

M) A $o°5 HEABD0 8IS0

IV) &8s o8 BOAH0 68,6 SFSth edie) Sordods OB dotraw.

Options:

28393617253, * 1 & Il only

28393617254, % 11 & IV only



28393617255, v 11 & Il only

28393617256, * 1 & IV only
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Which of the following statements are not correct for the following reaction?
il NaOH

2CH,CHO———CH,-CH=CH - CHO

A) This reaction is an example of aldol condensation reaction

B) Carbonyl compounds which have no & — hydrogen atoms can give this reaction
C) f - Hydroxy aldehyde is called aldol

D) The name *Aldol” 1s the name of the scientist

1808 550 1808 B85 A HOTAV?
2CH,CHO——="*-CH,- CH=CH - CHO

A) 30 "e38PS" 0SS 58 2.8 Grrarde

B) a - 3 @zacen 8 58RO daren & 585650 2t

) f-r@d) 88ers & 8T ©otrdk

D) (Aldol) serS &9F DD 8¢S ©F T RS D HOG SOINE

Options :
28393617257, % A & Bonly
28393617258, % A & Conly

28393617259, % B & C only

28393617260, v B & D only
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Arrange the following in the increasing order of their acidic strength
1808 a¢3Q 7¢3 @ Weren OT (D05 @08 Jen

FCH, COOH F,C COOH CCl, COOH O,NCH,COOH

[ [ I11 IV
Options :

28393617261, # I < IV < I < 1

28393617262 % IV < 1 < 11 < 1

28393617263, % I < Il < IV < 1

283936172641 < IV < 1I < 1
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Which of the following reaction represents the Hell-Volhard-Zelinsky reaction?
80D BG5S O S - Serd - BB, D50 550 TeoH?
Options:
0O

I
Br, | NaOH
28393617265, * R —C—NH, oy



R_CH CO H (1) Bry |Red P N

28393617266. ¥ (i) H,0
snCl, |[HCI
28393617267. # R — CN ———2"—_
H, .
28393617268, % s Pd-BaSO, ~
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[dentify the reagent which is used to distinguish primary, secondary and tertiary amines

(2608, 28080 805 BYANE DR e HO0IEFAS &OEFAOT SE¥0 N0
Options :

p-Toluene sulphonyl chloride
-8393617269. ¢ P-ESOS HSHTS §386

p-Toluene benzoyl chloride
28393617270, % P-ESOS BoF'owS 886

p-Amino sulphonic acid
28393617271, % DS’ S )T B0

p-nitro phenol
78393617272, % P-BIE DTS

Question Number : 159 Question Id : 2839364319 Question Type : MCQ Option Shuffling : Yes
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Identify the products formed in following reaction

1B0B 58565 EIT Sed I eed HBOTHEW

W

(CH,),C -0 —CH,CH, + HI

Options :

28393617273 # (CH;),C -1 + CH,CHO

28393617274,%(CHJ}_zc"OH 4 CHACHL]

28393617275, (CH3),C-1 + C,H,OH

58393617276 % (CH;);CH + CH,;CH,O0I

Question Number : 160 Question Id : 2839364320 Question Type : MCQ Option Shuffling : Yes
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C,H. NH,+NaNO,+ 2HCI—2X 5 (A) s T -

(i) NaNO, , Cu,A

The products A, B in above sequence of reactions respectively are
2 @ED 85O dredjaryen A, B e SEO

Options:

28393617277, ¢ CHsN.Cl, CHNO,

28393617278, # CeHsNO, , C.H.NH,



28393617279, # C.HNO, , C;H,Cl

28393617280, % CeHsN,Cl, C;H, F



